Global Journal of Management, Social Sciences and Humanities 163 Vol 7 (1) Jan-March, 2021, PP. 163-181. ISSN 2520-7113 (Print), ISSN 2520-7121 (Online) www.gjmsweb.com. Email:editor@gjmsweb.com. Impact Factor value = 4.739 (SJIF). DOI: https://orcid.org/0000-0001-5767-6229. 163

RELATIONSHIP BETWEEN FOREIGN DIRECT INVESTMENT AND PAKISTAN'S ECONOMIC GROWTH

Prof Dr Abdul GhafoorAwan¹, Riffat Rasheed²

ABSTRACT-The objective of this research paper is to analyze relationship between Foreign Direct Investment (FDI) and Economic growth. Time series data for the period of 1980-2017 was used. Different variables like Inflation, Gross capital formation, Foreign Direct investment, Trade, Population growth and Gross Domestic Product (GDP) are used to check the impact of FDI on economic growth of Pakistan. We used ARDL approach, Bound test and Error correction Model to determine short run and long run effects of FDI on economic growth. Our results show that there is long-run and short-run significant relationship between FDI and Economic Growth. Other variables such as the inflation and the population growth rate have significant impact on GDP in the long run whereas the gross capital formation and foregin trade have no significant impact on economic growth of Pakistan in the long- run.

Keywords: GDP, Inflation, Trade, Foreign direct investment and Gross Capital Formation.

Type of study:	Original Research paper.
Paper received:	05.09.2020
Paper accepted:	24.11.2020
Online published:	01.01.2021

^{1.} Dean, Faculty of Management Sciences, Institute of Southern Punjab. <u>ghafoor70@yahoo.com</u>. Cell # 0923136015051.

^{2.} M.Phil Scholar, Department of Economics, Institute of Southern Punjab. rifatrasheed2@gmail.com.

1. INTRODUCTION:

GDP growth is generally used to estimate the production level of a country (Hassan, 1997). Economic growth is determined through expenditure, net exports of goods and services and investment from side to side productivity growth. Foreign Direct Investment (FDI) plays a vital role in economic growth of a country because it does not only bring capital but also technology. The role of FDI in Pakistan's economic growth is very important because Pakistan meets its twin deficits through remittance being sent by overseas Pakistanis every year (Awan, Jabbar, 2012) and foreign direct investment in development of infrastructure, fixed assets and capital market. The main objectives of this paper is to measure the impact of FDI on Pakistan's economic growth.

1.2 Main Research Problem:

Main research problem of this research paper is to analyze the impact of foreign direct investment on Pakistan's economic growth.

1.3 Objectives of study:

The objectives of this research study are outlined as under: -

- 1.To analyze the impact of FDI on economic growth of Pakistan.
- 2.To examine the relationship between economic growth, gross capital formation and inflation.
- 3.To measure the impact of population growth and foreign trade on economic growth.

1.4 Scope of study:

The scope of the study can be assessed from the fact that every country needs foreign direct investment in the shape of capital and transfer of technology. Pakistan is among those countries which extremely needs both foreign direct investment and technology transfer for its economic growth. Though the results of this research study will be restricted to Pakistan but they can be generalizing to all development countries and policy makers of these countries can take benefit from it. Thus, the scope of this study is substantial.

2. LITERATURE REVIEW:

Several studies have examined the relationship between FDI and economies development. We have made brief review of selected relevant studies which are discussed here briefly in the following: -

Nair and Diana Weinhold (2001) conducted cross-country analysis and included 24 countries in their sample. In their empirical analysis they found heterogeneous results and did not see any clear association between foreign direct investment and economic growth.

Awan et al (2014) has said that foreign direct investment expedites economic growth particularly in the developing countries because they face capital constraints for their development. Their results show that Pakistan's economy is greatly depend on FDI for expansion of its productivity, utilization of surplus labour, introduction of new technology and creation of new job opportunities. They found highly volatile FDI during their study period of 1990 to 2012. They found that the variables like gross capital formation, exports, gross national income had positive relation with economic growth while it had negative relations with external debt.

Awan and Jabbar (2014) explored capital mobility to developing countries since 2001. They concluded that after formation of WTO the mobility of capital from developed to underdeveloped countries had increased because international capital market was opened and the developing could raise required funds from big international market. They conteded that globalization had positive impact on capital flow to developing countries like Pakistan.

Siddique, H. M. Ansar, R. Naeem, M.M. and Yaqoob, S. (2017) determine the nexus between monetary expansion and economic growth. They used data from 1980 to 2016 and analyzed this data through ARDL approach. The outcomes of the study show limited causality between economic development and growth in capital stock.

Ahmed et al., (2011) and Khathlan (2012 investigated relationship between foreign direct inevestment and economic growth of Pakistan. They argued that foreign direct investment and remittance had positive effect on Pakistan's economic growth.

Khathlan (2012) and Almfrsji and Almsafir (2014) emphasized that foreign direct investment helped in job creation and reduction in unemployment. They suggest that foreign direct investment might be attracted through fiscal incentives.

Tahir, Imran, Afzal Moshadi Shah(2015) concluded that there is negative link between imports and economic development. The coefficient estimation of - 3.52 proposes so as to the economic system of Pakistan possibly will be unfavorably partial attributable in the way of the inflow of imports. Hypothetically, imports are essential in favor of a developing economy. In this way, it is difficult to bind the purposes behind the negative effect of imports on economic development.

Tiwari and Mutascu (2011) this implies that FDI had no effect in enhancing local innovation and fares in optional and tertiary part. The arrangements should concentrate on the nature of the outside venture instead of FDI itself. In addition, neighborhood financial specialists and human capital ought to be enhanced to extricate great consequences from FDI.

3. RESEARCH METHODOLOGY:

3.1 Nature of study:

This study is quantitative in nature and we will use the quantitative data and analytical methods in this study.

3.2 Types of data:

We will use secondary data in this study which will be collected from World Bank's Development Indicators, IMF, Pakistan Economic survey and State Bank of Pakistan.

3.3 Sample of study:

To investigate the impacts of the FDI on the GDP growth of Pakistan we use time series data for the period 1980-2017.

3.4 Selected variables:

The conceptual model is shown in Figure 1:



Figure 1: Conceptual models

3.5 Econometric model:

The econometric model is given in the following equation in which Yt is a dependent variable and Xst are an independent variable while Ut is an error term.

$$\gamma_1 = b_\circ + b_1 X^1 + b^2 X^2 + b^3 X^3 + b^4 X^4 \dots \in$$
(1)

Equation (1) is the long run model that shows long-run relationship between independent and dependent variables. Bound test is used to measure these relationships. Thus, the equation (1) is used as a conditional ARDL (Auto regressive Distributed Lag) model, which is shown in equation 2:

$$\Delta \gamma_t = C_{\circ} + \sum_{i=1}^{P} \gamma_1 \Delta \gamma_{t-i} + \sum_{q=0}^{j} \gamma_2 \Delta x_{t-j} + \pi_1 \gamma_{t-1} + \pi_2 x_{t-1} + (2)$$

4. DATA ANALYSIS:

4.1 ADF Unit Root Test:

To check the order of integration of variables, ADF Unit Root Test is applied. It is used to determine the stationarity of variables. The results of Unit Root Test is shown in Table 1:

Variables	At Level P value	at 1st difference P value	Order of integration
lnGDP	0.0000		I(0)
lnFDI	0.0583		I(0)
lnINF	0.0003		I(0)
lnPOP	0.5732	0.0354	I (1)
InTRADE	0.0405		I(0)
lnGCF	0.0000		I(0)

Table 1: Results of ADF Unit Root Test

The data in table 1 shows that all variables except population are stationer at level 1 (0) while variable population is stationer at level 1(1). So it is proved that the variables are stationers at different level and now we can use ARDL approach for analysis of data.

4.2 Optimal lags:

The lag length is number of terms that back down the AR process for which you want to test serial correlation between variables. In other words we can say that it is comparison of time series data with lagged series data and we chose optimal lag from them.

Variable name	Optimal Lag
Gross domestic products	3
Foreign direct investment	4
Inflation	2
Population	0
Trade	2
Gross capital formation	1
Akaike information criterion	-2.247815

Fable	2: (Optima	al Lag

4.3 Descriptive statistics:

The results of descriptive statistics of variables are shown in table 3:

С POP GDP FDI GCF INF TRD Mean 0.605989 1.000000 -0.361680 1.544755 0.906613 2.028294 3.500363 Median 0.804369 1.000000 -0.416959 1.608801 0.870944 2.095414 3.522050 1 212065 3 214512 Maximum 1.899953 1.000000 1 299735 2 919491 3.646236 Minimum -2.353059 1.000000 -2.276267 -1.389992 0.669920 -0.915697 3.231051 Std. Dev. 0.916679 0.000000 0.760860 0.830213 0.191847 0.712368 0.094146 Skewness NA 0.030929 -1.2127390.434573 -1.761012-1.269464-1.250997 Kurtosis 4.579311 NA 3.384157 5.874688 1.620398 8.927127 4.278412 Jarque-Bera 13.86081 NA 0.239721 22.39907 4.209633 75.26451 12.79412 Probability 0.000978 NA 0.887044 0.000014 0.121868 0.000000 0.001666 23.02757 38.00000 -13.74385 58.70069 34.45131 77.07518 Sum 133.0138 Sum Sq. Dev. 31.09111 0.000000 21.41957 25.50237 1.361790 18.77631 0.327946 Observations 38 38 38 38 38 38 38

Table 3: Descriptive Statistics.

The statistic description in Table 3. has total 38 observations. As can be seen, the mean value of lnFDI is relatively small as compared to the mean of lnGDP.

FDI is positive in some period while negative in another period and this is the reason of low standard deviation value of lnFDI. The same trend is in other variables during study period.

4.4 ARDL Model: Long run Relationship:

The results of ARDL model are shown in Table 4:

Table 4: Results of ARDL Model

Dependent Variable: GDP Method: ARDL Date: 03/16/19 Time: 06:30 Sample (adjusted): 1984 2017 Included observations: 34 after adjustments Maximum dependent lags: 4 (Automatic selection) Model selection method: Akaike info criterion (AIC) Dynamic regressors (4 lags, automatic): FDI GCF INF TRD POP Fixed regressors: C Number of models evalulated: 12500 Selected Model: ARDL(3, 4, 1, 2, 2, 0)

Variable	Coefficient	Std. Error	t-Statistic	Prob.*
GDP(-1)	-0.265996	0.202087	-1.316245	0.2066
GDP(-2)	-0.418729	0.184031	-2.275319	0.0370
GDP(-3)	0.312066	0.203438	1.533963	0.1446
FDI	0.332859	0.545338	0.610373	0.5502
FDI(-1)	-0.462865	0.519458	-0.891055	0.3861
FDI(-2)	-0.802930	0.466558	-1.720965	0.1045
FDI(-3)	0.018491	0.479645	0.038551	0.9697
FDI(-4)	-0.697610	0.526044	-1.326143	0.2034
GĈF	0.352272	0.169416	2.079328	0.0540
GCF(-1)	0.354019	0.184427	1.919567	0.0729
INÊ	-0.007420	0.289604	-0.025622	0.9799
INF(-1)	-0.107125	0.284250	-0.376869	0.7112
INF(-2)	-0.593341	0.330367	-1.796006	0.0914
TRD	4.086366	3.155574	1.294967	0.2137
TRD(-1)	4.633395	2.905908	1.594474	0.1304
TRD(-2)	-3.482373	2.817519	-1.235971	0.2343
POP	-5.817798	3.148203	-1.847974	0.0832
C	-12.66104	12.08426	-1.047729	0.3103
R-squared	0 764506	Mean depend	tent var	0.510541
Adjusted R-squared	0.514293	S D depende	ant var	0.917152
SE of regression	0.639188	Akaike info cr	iterion	2 247815
Sum squared resid	6 5 3 6 9 7 9	Schwarz crite	rion	3 055888
Log likelihood	-20 21286	Hannan-Quin	n criter	2 523391
E-statistic	3 055421	Durbin-Water	n stat	2.020001
Prob(E-statistic)	0.015249	Edibil-Watst	JII Stat	2.042580
Prob(F-statistic)	0.015249			

*Note: p-values and any subsequent tests do not account for model selection.

Table 4 explain the results of ARDL model. In this model R² shows the goodness of fit of the variable, indicating that 76% variation in dependent variable is due to variation in independent variables of the model. It is observed that the variables FDI, population growth rate and inflation have negative impact on GDP growth while trade and Gross capital formation have positive impact on GDP growth rate in the long run in case of Pakistan. The reason is that FDI flow enhances stock of foreign debt and ,similarly, population growth rate also decrease per capita income in the long run. In contrast, Gross capital formation and foreign trade have positive impact on GDP because first increases level of productivity while other one enhances foreign exchange earnings from exports.

F- Bou nds Test		Null Hypothe	sis: No levels re	lationship
Test Statistic	Value	Signif.	. I(0)	l(1)
			Asymptotic: n=	1000
F-statistic	5.518244	10%	2.08	3
k	5	5%	2.39	3.38
		2.5%	2.7	3.73
		1%	3.06	4.15
Actual Sample Size	34		Finite Sample:	n=35
		10%	2.331	3.417
		5%	2.804	4.013
		1%	3.9	5.419
			Finite Sample:	n=30
		10%	2.407	3.517
		5%	2.91	4.193
		1%	4.134	5.761

 Table 5: Bound Test result

Table 5 explains the Bound test that is helpful for checking the long term relationship between variables along with ARDL model. In this test we have checked that F statistics value and upper and lower bound values. If value of F statistics is more than the value of upper limit it shows that variables have long run relationship and impact of explanatory variable on dependent variable. These results confirm the results of Table 4.

4.6 The Result of Error Correction Model (EMC):

The results of ECM are shown in table 6:

Table 6 Error Correction Model

Variable	Coefficient	Std. Error	t-Statistic	Prob.
D(GDP(-1))	0.106663	0.128840	0.827875	0.4199
D(GDP(-2))	-0.312066	0.115451	-2.703008	0.0157
D(FDI)	0.332859	0.291464	1.142025	0.2702
D(FDI(-1))	1.482049	0.320956	4.617604	0.0003
D(FDI(-2))	0.679119	0.279472	2.430011	0.0272
D(FDI(-3))	0.697610	0.306393	2.276848	0.0369
D(TRD)	4.086366	1.927428	2.120113	0.0500
D(TRD(-1))	3.482373	1.785483	1.950381	0.0689
D(INF)	-0.007420	0.154000	-0.048184	0.9622
D(INF(-1))	0.593341	0.175067	3.389226	0.0037
D(GCF)	0.352272	0.100125	3.518314	0.0029
CointEq(-1)*	-1.372659	0.188348	-7.287874	0.0000
R-squared Adjusted R-	0.817019	Mean depe	ndent var	0.003458
squared S.E. of	0.725529	S.D. dependent var		1.040468
regression Sum squared	0.545101	Akaike info criterion		1.894874
resid	6.536979	Schwarz	criterion	2.433590
Log likelihood Durbin-Watson	-20.21286	Hannan-Qu	iinn criter.	2.078591
stat	2.042580			

.

ECM Regression Case 2: Restricted Constant and No Trend

In Table 6 the coefficient of the ECM turns out being statistically significant (-1.3722659), suggesting a converging to the equilibrium path, which means the error-correction process converges to equilibrium level in less than one year. The significance and the correct sign of the error correction coefficient also confirm the presence of short-run relationship between the economic growth and the independent variables of the model.

4.7 Stability Test:



Figure 2: Results of stability test

The Stability test in the regression model. We have six variables one is FDI, inflation, GCF, trade and GDP, POP.GDP is dependent variable and FDI, GCF inflation and POP and trade are the independent variables. So I run this regression equation model. Then we apply cusum test we can see two red lines and other blue line between these red lines. It means that this blue line is located within these red lines so our model is stable during the study period.

5. FINDINGS OF STUDY:

Our study found that there is negative relationship between population growth rate, inflation rate and FDI in the long run while foreign trade and gross capital formation have positive relationship with GDP in the long run. These results are consistent with economic theories which state that foreign direct investment enhance foreign debt as well as annual debt services for the weak developing countries like Pakistan. Similarly, high inflation rate also has increases price level of goods and services and such negatively effecting purchasing power of poor segment of society. Similarly, increase in population also affects negatively GDP because it decreases per capita income of the country in the long run. However, gross capital formation increases the production of goods and services and in such a case the country can export its surplus production. Foreign trade also has positive impact on GDP in the long run because the country earns hard needed foreign exchange by selling its surplus goods and services in the international market.

6. CONCLUSIONS:

We have analyzed the relationship between Foreign Direct Investment (FDI) and Economic growth of Pakistan in the period of 1980-2017 to measure short run and in long-run relationship between variables by using ARDL method. We have found that the FDI has significant and positive impact on the Pakistan's economy in the short run while negative impact in the long run.In the short run, FDI inflow brings capital as well as technology but it enhances total volume of debt and debt services over the years if foreign loans are used in consumption and in unproductive projects. So it is advisable for Pakistan to attract foreign direct investment in fixed assets and productive projects which give highest return in the long run so that borrowed loans can be repaid. As inflation rate and population growth rate have negative impact on GDP in the long run it is imperative to keep under control and not allow to rise steeply. Pakistan must pay attention on gross capital formation as increase the volume of capital stock which is a core need of enhancing productivity of the country.

7.RECOMMENDATIONS:

The following recommendations are made in the light of above findings and conclusions:-

- Only FDI should be allowed in fixed assets and for productive projects.
- Pakistan should identify the sectors that need long term FDI and offer these projects to foreign investors.
- Overseas Pakistanis should be given fiscal incentives so that they can invest in their country rather than keeping money abroad. Necessary legal protection should be provided to them.
- Pakistan should devise anti-inflation fiscal and monetary policies to save its negative effects on low income people and to reduce poverty.
- A strong media campaign should launch to control population growth in order avoid multi-dimensional economic and social problems in future.

REFERENCES

- Agrwal and Horowitz, A.W. (2002) Are International Remittances Altruism or Insurance? Evidence from Guyana Using Multiple-Migrantn Households. *World Development, Vol. 30*, pp. 2033-2044.
- Ahmed, J. (2012) Cyclical Properties of Migrant's Remittances to Pakistan: What the data tell us. *Economics Bulletin, vol.* 32(4): 3266-3278.
- Alesina, A. and D. Dollar, (2000), "Who Gives Foreign Aid to Whom and Why?" *Journal of Economic Growth* 5(1): 33-63
- Ang, J., (2008), "a survey of recent developments in the literature of finance and growth", *Journal of Economic Surveys* 22 (3) :536–576.
- Aning, K (2007) Security, the War on Terror and Official Development
 Assistance, Theme Paper prepared for the project on Southern
 Perspectives on Reform of the International Development
 Architecture.
- Anjum AqeelL and Mohammad Nishat (2004). The Determinants of Foreign Direct Investment in Pakistan. *The Pakistan Development Review 43*:
 4 Part II (Winter 2004) pp.
- Awan, Abdul Ghafoor, Jahanzeb Hassan, Waqas Ahmad, Pervaz Shahid
 (2014). Factors affecting foreign direct investment in Pakistan,
 International Journal of Business and Management Review, Volume 2
 (4): 21-35
- Awan, Abdul Ghafoor, Jabbar, Abdul (2014). The Determinants of capital inflow in developing countries with special reference to Pakistan *Developing Country Studies Vol 4* (12): 159-182
- Anwar, Faiqa; Awan, Abdul Ghafoor (2019). Role of Fiscal policy in employment generation in Pakistan, *Global Journal of Management*,

Social Sciences and Humanities, Vol 4(2).

- Awan, Abdul Ghafoor, Rana Ejaz Ali Khan (2014). The Enigma of US productivity slowdown: A Theoretical Analysis, *American Journal of Trade and Policy, Vol 1* (1): 7-15.
- Awan, Abdul Ghafoor, Iqbal, Saleem (2014). Policy Analysis of Human
 Resources Development: A case study of Textile industry in Pakistan,
 Global Journal of Human Resources Development Vol 2 (4): 40-59
- Awan, Abdul Ghafoor; Hannan, Abdul (2014). The Determinants of Tax
 Evasion in Pakistan: A case study of Southern Punjab, *International* Journal of Development and Economic Sustainability, Vol 2 (4):50-69
- Awan, Abdul Ghafoor, Naseem Riffat (2018). The impact of Government expenditures on Economic development in Pakistan, *Global Journal* of Management. Social sciences and Humanities, Vol 5: 562-565
- Awan, A. G. (2013). Relationship between environment and sustainable economic development: A theoretical approach to environmental problems. *International Journal of Asian Social Science*, 3(3), 741-761.
- Awan, A. G., & Anum, V. (2014). Impact of infrastructure development on economic growth: A case study of Pakistan. *International Journal of Economics and Sustainable Development*, 2(5), 1-15.
- Awan, A. G., & Khan, R. E. A. (2014). The Enigma of US Productivity Slowdown: A Theoretical Analysis. *American Journal of Trade and Policy*, 1(1), 7-15.
- Awan, Abdul Ghafoor (2014). Environmental challenges to South Asian Countries, *Asian Accounting and Auditing Advancement, Vol 3* (1):84-103.
- Awan, Abdul Ghafoor (2015). Analysis of the impact of 2008 financial crisis on the economic, political and health systems and societies of

advanced countries. *Global Journal of Management and Social Sciences, Vol 1(1):1-16.*

- Awan, Abdul Ghafoor (2016). Wave of Anti-Globalization and Capitalism and its impact on world economy, Global *Journal of Management and Social Sciences, Volume 2* (4): 1-21
- Awan, Abdul Ghafoor (2015). State versus Free Market capitalism: A comparative Analysis, *Journal of Economics and Sustainable Development Vol 6 (1)*:166-176
- Awan, Abdul Ghafoor (2014). Brazil's innovative Anti-poverty & inequality Model, International Journal of Development and Economic Sustainability, Vol 2 (5): 45-55.
- Awan, Abdul Ghafoor (2012). Human capital: Driving Force of Economic growth in selected Emerging Economies, *Global Disclosure of Economic and Business, Vol 1*(1): 09-30
- Bacha, E. L. (1990) A Three-Gap Model of Foreign Transfers and the GDP
 Growth Rate in Developing Countries, *Journal of Development Economics, Vol.* 32:279–29
- Barajas, A., Chami, R., Fullenkamp, C., Gapen, M., Montiel, P., (2009). Do workers' remittances promote economic growth?, *International Monetary Fund Working Paper No. WP/09/153.*
- Barajas, A, Chami, R, Ebeke, CandTapsoba, S(2012). Workers' Remittances: An
 Overlooked Channel of International Business Cycle Transmission?
 IMF Working Paper No. 12/251.
- Barro, R. and Martin Sala-I-, X. (1991). Convergence across states and regions. *Brookings Papers on Economic Activity 1991(1):* 107-182.
- Bauer, P. (1991), "Foreign Aid: Mend It or End It?" in Bauer, P., S.

Siwatibauand,andW.Kasper, eds., Aid and Development in the South
Pacific, Australia: *Center for Independent Studies*.
Ch,Haroon Ahmad,.Awan, Abdul Ghafoor, Faridi, Muhammad Zahir
(2015). Human Capital Formation and Economic Performance: A case
study of Pakistan, *Journal of Economics and Sustainable*Development, Vol 6 (3). 96-104

- Falki Nuzhat,(2009)Impact of Foreign Direct Investment on Economic Growth in Pakistan, International Review of Business Research Papers, vol.5, pp. 110-120.
- K.Malik.Impact of Foreign Direct Investment on Economic Growth of Pakistan.Vol 4, No 4 (2015)
- Khan, A. H.(1997). Foreign direct investment in Pakistan: policies and Trends. *The Pakistan development review*, *36*(4) :959-985.
- Kiren, Kauser, Awan, Abdul Ghafoor (2018). The Role of Globalization in employment generation: Evidence from Pakistan., *Global Journal of Management, Social Sciences and Humanities, Vol 4* (1).
- Khondoker Abdul Mottaleb ,Determinants of Foreign Direct Investment and Its Impact on Economic Growth in Developing Countries, MPRA Paper No. 9457, posted 7. July 2008 02:28 UTC.
- Mueen-ud-Din, Awan, Abdul Ghafoor (2015). The impact of Foreign Aid on Pakistan's Economy, *Science International Lahore, Vol 27* (4): 3455-3459.

CONTRIBUTION OF AUTHORS AND CONFLICT OF INTEREST

This research work was carried out in collaboration between two authors.

Author 1: Prof. Dr. Abdul Ghafoor Awan did his first Ph.Ds in Economics from Islamia University of Bahawalpur-Pakistan and second in Business Administration from University of Sunderland, U.K. He contributed in this research paper by way of guiding author first about title selection, data analysis and statistical techniques. He also edited and gave final shape to the manuscript. In order to know about his other fields of research please look at his Web of Science Researcher ID \square M-9196 2015 or his profile at Google scholar.

Author 2:Riffat Rasheed has completed her M.Phil in Economics from Department of Economics, Institute of Southern Punjab. She designed this study, collected required and analyzed it. She wrote first draft of this manuscript under the supervision of author 1. She can be reached at her Email ID: rifatrasheed2@gmail.com.

Both authors read the manuscript carefully and declared no conflict of interest with any person or institution.